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Ooxtoizd g8 =& 0 2,000 A2,000
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09 AL HIZB A S 550 6,000 A5,450
OXiZY L WIEH A 4 BA(DSA
S 40AIZ) 550 6,000 25,450
WHA TIHA K& 9,000 6,000 3,000
= 9,000 6,000 3,000
2MZE D mich A XI& 9,000 6,000 3,000
=) 9,000 6,000 3,000
301 et a = 9,000 6,000 3,000
=) 9,000 6,000 3,000
01 MEIBEE 2063 9,000 6,000 3,000
OLMZEI HXN2Z2FH A Ok XI&
(300,000 «22 22 )+(300,0002 x 1 * 12 )+ 9,000 6,000 3,000
°| 2 Hl 4,200,000
) 9,000 6,000 3,000
SR ==X 38 2 A 2435 2,043,978 2,084,941 A 40,963
SR 4= 1,614,824 1,641,251 N26,427
201 Zer24] 1,384,691 1,385,501 A810
01 At 2t 2l 106, 164 106,974 A810
OZ3RJIE 22 A Sl 16,164 16,974 A810
307 21201 A 141,500 166,500 A 25,000
07 H3X=3 82,500 107,500 225,000
ORXs0HE 82,500 107,500 A 25,000
—MHEES 0 25,000 A 25,000
9 MEZ 633 1,250 AB17
02 BRAAZ 2 SHILEEZ 633 1,250 AB17
O3Fd UoHstii=s 2ERE= 633 1,250 N




2N
X ZH -
L= B

el

E20
I|I:H-6HX~I o4 2F

o o o - o
Zed 4=

=y
ol
o =

[pa]
He
el
Bkl
o
0x
ton

ot

SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
SANEA 2= 72,411 84,860 A 12,449
202 Oddl 59,751 72,200 A 12,449
01 = LH 4 Hi 15,378 24,200 A8,822
SET AHE 60,000& *60H =13 3,600 6,000 A 2,400
O AE S 60,0003 »60H 2 7,200 12,000 A 4,800
OJEAT XM SAE R #X0d S 3,378 5,000 N 1,622
04 =X =04l 44,373 48,000 A 3,627
OH& A28 44,373 48,000 A 3,627
LS ALStE stotg Msa 30,918 33,005 A2,087
201 et 30,918 33,005 A2,087
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s 1,321,642 1,353,113 A 31,471
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